AfeT FACZIET (N 2421d 05b

___*

(3) _
RB/C(M)/2018

Choose the word or group of words which s moist
similar in meaning to the idioms/phrase printed in

bold as used in the sentence.

1. Ifajokefalls flat, nobody thinks 1t is funny. 1. It aJOk.e falls flat, nobody thinks itis funny.
( A) faﬂS to stand (A) fallS to stand -
(B) fails to realise ' (B) fails to realise
(C) fails to maintain | (C) fails to maintain
(D) fails to produce the intended effect (D) fails to produce the intended effect
%‘WW (smallest) TR 12, 16 AR 36 2. 1 TS 91 GAI (smallest) T&AETE 12, 16
i ot (divide) FHC ATORAER 7 SEIRL 13671 9T (divide) TR & weh! 99 (remainder) 7§97
(remainder) P2 7 ) (A) 151
(A) 151 g \U\E LT (B) 137
® 137 DS \v /s (C) 165
, (C) 165 TN\, 2 o (D) 135
| (D) 135 S S t\,\ )
1 . W
| : />3
. U3
o
‘ i
Change the voice of the sentence: - Change the voice of the sentence:
3. You need to clean your shoes properly. 3. You need to clean your shoes properly.
1 (A) You are needed to clean your shoes (A) You are needed to clean your shoes
properly. properly.
| | (B) Your shoes are needed to be properly (B) Your shoes are needed to be properly
:‘ cleaned. _ . cleaned. *
* (C) Your shoes are needed to be cleaned (C) Your shoes are needed to be cleaned
properly by you. properly by you.
| (D) Yourshoesneedtobe cleaned properly. (D) Yourshoesneedtobecleaned properly.
11 4 _
5 W?‘WWW@?CQTQW&RW 4. FrofafEg e o e TS ce e
| A?
1 (A) PROLOG ' (A) PROLOG
| (B) CoBoL (B) COBOL
| D) e TOSH (C) MACINTOSH
) FORTRAN (D) FORTRAN
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T —— B i
i
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RB/C(M)/2018 (4 ) |
' s af DRIVER = 12, PEDESTRIAN = 20

3 DRIVER = 12, PEDESTRIAN = 20. ~CIDENT = 16 577 v, TTE 9T CAR = 9
- ACCIDENT = 16 2, & CAR = 9 .
(A) 3
(A) 3
. B) 6
(B) 6
O 8 C) 8
( (D) 10
(D) 10
6. ‘e’ o bl IRATT (Unit) ?
«2 @S T @FF (Unit) ? (A) FAA (Mass)
(A) ©F (Mass) ' (B) AqHT (Temperature)
(B) =@l (Temperature) (C) T (Heat)

(C) i (Heat)

7 (F
(D) =9 (Frequency) (D) _ (Frequency)

AN

Directions: (Qs 7 to 11): Fill in the blanks with ])ir“ectionis:f:(th 7 to 11): Fill in the blanks with

appropriate word or preposition. appropriate word or preposition.
'.7-_ MY ,S_iStef and _are pleased to accept 7. My sister and are pleased to accépt
your invitation. - your invitation. )
(A) 1 (A T E
(B) me | :
(C) myself o o >
- (C) myself 3

(D) I myself

Zﬁ./Sachin was standing

(D) I myself

o ¥/ N

-_—
>

e me. 8. Sachin was standing me.
aside . |
(B) next (A) aside
(C) beside (B) next
(C) beside

(D) besides
(D) besides

'\97 A thorough search of the aircrafy Was carried l

in the airport. 9. Athorough search of the aircratt was carried
(A) out —_1n the airport.
p— .
(B) off (A) out
(C) on (B) off
(D) along | (C) on
(D) along

www.kolom.in



. 10. There ____ any message from my friend

since he moved to Delhi.
(A) isn't
(B) wasn't
(C) hasn’t been
(D) haven’t been

11. He shows great ability mathelinatics.
(A) at
(B) of
(C) about
(D) n X

’\—1/6%?8@ 900 TIFI F© IAF W (interest)
5% QAT 540 DI 8 TRCI T I A

(A) 37 . Fk‘*f |
(B) 4 T%F ) %
 (C) 53 3

" (D) 63=A

@@ﬂm A@fos SR “TEAMWORK® &

@41 = ‘NBFUIQNV’ @k ‘SOME’ (F (T4 -2
‘PTDL’ | & FH[eF SiFd ‘PERSON’ (& FISIF
GRIEGE

(A) QDOOPT

(B) SFQMNR

(C) QDOMNR

(D) SFQOPT

14. ’Which one of the following words is
correctly spelt?

(A) Lieutenant
(B) Leftenant
(C) Leftinent
(D) Leitenant

1. He it abili
1 shows great ability mathematics.
(A) at |

(B) of
(C) about
(D) in

12. <hfd 9y Hi 900 EUTERI 6% 9= (interest) TR
540 TYHTR! 8 TR 5% T T YT TR §5?

(A) 39
(B) 439
(C) 5ad
(D) 6

13. afe ‘TEAMWORK’ T FH THHH
‘NBFUJQNV’ @ifa® 31 ‘SOME’ &8 ‘PTDL’
S, @l syg PERSON’ T el TEs?

(A) QDOOPT
(B): SFQMNR
(C) QDOMNR
(D) SFQOPT

14. Which one of the following Words
correctly spelt?
(A) Lieutenant
(B) Leftenant
(C) Leftinent
(D) Leitenant

www.kolom.in
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Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in

bold as used in the sentence:

15. Farmers have cried wolf in the past but this
time, agriculture is in a Crisis.
(A) to listen eagerly
(B) to give false alarm
(C) to turn pale

(D) to keep off starvation

LA AW XGRS, B AW Y - W

AR X8 2’93 @E M Y’ =, O@ fma @i
el Pimrees stoy e

(A) ‘B’, Z'~az = At B
i. ? .T -
B) B zem A-a® L KX 1

(C) YV, ‘X =959
(D) ‘B’-3 &[0 I Slitm

Out of the four alternatives suggested, select the
one which best expresses the same sentence in
indirect speech.:

17. 1 said to him, “Why are you working so
hard?”

(A) I asked him why he was working so
hard.

(B) I asked him why was he working so
hard.

(C) Iasked him why he had been workin g
so hard. |

(D) I asked him why had he beep working
so hard.

Jg/ﬁrﬁa I SIS SIS G %1% yhey
oo FTFE (ST =7 ?
(A) &9y (Literature)

(B) fAeaq @ 2 (Science & Technology)

(C) AT AWSTS! (Environmen

| S
awareness)

(D) Gre A Fe (Water Conservation)

(6)

Choose the word or group of words which is most
cimilar in meaning to the idioms/phrase printed in

bold as used in the sentence:

15. Farmers have cried wolf in the past but this
time, agriculture is in a Crisis.
(A) to listen eagerly
(B) to give false alarm

(C) to turn pale
(D) to keep off starvation

16. ‘A’ afg X’ e, ‘B’ Al Y’ S STHITX
37 FaAfe Y’ & 9, a1 ST 5 |ioh BE?
(A) ‘B’, ‘Z’ <l M0
(B) ‘B’, ‘A’ H i
(C) Y’, X’ | BN
(D) ‘B’ &l T3 S ®

Out of the four alternatives suggested, select the

one which best expresses the same sentence in
indirect speech:
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Change the voice of the sentence:

19. Darjeeling grows tca. |
(A) Teais grown 1n Darjeclmg.. |
(B) Let the tea be grown in Da'r]eellmg.
(C) Tea is being grown in Darjeeling.
(D) Tea grows In Darjeeling.

.40./@17;@@% @ Ay T AT TV
FABE @ oAV R 2 |

(A) SEHAT™
(B) ©& A

© S
(D) “AMeN

\Aﬁﬁﬁ'ﬁﬁ?{ (series) 9% OrFd I SR |
12 SrFaefe o9 A7 A |

J NS '
LXxT ¥X T Y XY o

XXY |
(A) XXXYY
B) YXYXY

O YYXXY

(D) YYYXX

22. SITOAES (T ATy TS T (S 0P
% (Vermin) IC1 (IR FCACR?

(A) FHoF
(B) T2sioet 2o
(C) le
G
(D) AT -7
| o\
3, Y Wefx o541 ¢ t,%" 1,6
( / o 1 \) | o2
-!.+_1_ " _l__l = 8—-<5-1—— 3_21 q'(/b'
\2 3 4 6 3 2 LY
\ \ / r'
5 R ‘3:1_- _q';('l?‘
(A)sg5‘.3;,--';,.-&}:L "‘/;,
-
1 LA 9
B) 7—- & v ‘e
6 L\
s S w7
M6_6_ P G'{
1 ut
D) 6—
(D) 66 > 7

RB/C(M)/2018

20. TR F 57 ‘v’ Wi @ WY T
Jfaued HY?

(A) 3TmIey

21, T TSWshT Syofan (series) hel 37&R TUTH 9,
fieEes T §1S |

XX YX YY XY

e ———
I ———— —— ——————— D ———— e

XXY
(A) XXXYY
(B) YXYXY
(C) YYXXY
(D) YYYXX

22, YRAENH! H ToAC! Tl Siedens  &fd
(Vermin) T+ Y] =fHd TEH B2

(A) FHEH .
(B) Terr=et 9<¥l
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RB/C(M)/2018
(8)
Change the voice of the Sentence: Changeé the vOICE of the sentence ; -
infu‘-tcg he -invigilator was readj 24, The avigilator Was reading e
10nS. ng out the mstructiOﬂS . ;
(A) The instructions were pe: (A) The instructons were being read out
by the invigilator. éing read out by the invigilator. |
(B) The instructions we | (B) The instructions Were read by the
invigilator. ¢ read by the invigilator. .
(C) The instructions had beep (C) The - structions had been read by the
invigilator s invigilator. |
(D) The instructions had been cead ontby (D) The -hstructions had been read out by
the invigilator.

the invigilator.

-25. 70 AP worm 4032 e ol o, I, @

H )
(HCF) == 12, sz &1, o1, o, (LCM) 39 ?

A) 336
(B) 363 (\5:335%
(C) 301 VC
(D) 331
% — o

25, ggal HeEATRl OrHH 4032 T4 (HCF) 12
mgéﬁ@mW(LCM)#dg@? |
(A) 336
(B) 363
' () 301
(D) 331

NS

(A)

(B)

%
4 .
¥
D) ﬁ

(€)
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28, G B 5 TG wrgg <praey sl fozet AN
s < G e 2o | @2 (e ! T
4 G 49 GG S 1xr7f31 7fG (toiR T et |10

AR (TS 1156 6 T GAio7 ﬂﬁmﬁ’ﬁl?ﬂ .
.-k g

(A) 30 Tb/CTTS 7 g
(B) 40 T/ Va%q—
(C) 44 I/
(D) 64 Fb/CITS

bold as used in the sentence:

9. /The doctor said that the patient has turned
corner. ' -

(A) that the patient has crossed the corner.
(B) that he is in a serious condition.»

(C) that the patient is out of danger.

(D) that the patient has been turned over
for autopsy. |

N30, I B 12% 251 63 5t | 63 B0l 40%

Wgﬁﬁm? . _;/L'ZQ‘@’@\’ S
(A) 230 B 3,95/’”
(B) 210 Gi<l
) 2005=
(D) 190 Gi<®l

(A) wers1t (Copper)
(B) @&& (Bronze)
(C) ==t (Silver)
(D) (11" (Iron)

RB/C(M)/2018

Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in
bold as used in the sentence:

29. The doctor said that the patient has turned
the corner. |

(A) that the patient has crossed the corner.
(B) that he is in a serious condition.

(C) that the patient 1s out of danger.

(D) that the patieht has been turned over
for autopsy.

30. T ERETH 12% a6 To 63 9T | 7 TR
40% id §5?

(A) 230 &0
(B) 210 &=
(C) 200 B
(D) 190 &

(A) T (Copper) &,
~(B) diae (Bronie): |

(C)" =f% (Silver)

(D) e (Iron)

www.kolom.in
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RB/C(M)/2018

%m%wﬁ:ﬁm (AN (amendment)

T COTNIRETT 7 21 G (AT 18 g 791
AR ?

(A) 42¥

(B) 44 %

(C) 61 ©x

e
(D) 7393

/33./1%('321 RIEGEERTE
(chronologically) i ¢

(D) T ST (Swadeshi movement)
(ID) M=% ST (Khilafat movement)
(11I) (RIFTSMCHI5T (Home R ule movement)
(IV) WET Wiy wgerew (Civil

Disobedience movement)
(A 1L I, TV, 1
(B) I, IIL II, TV
© OLILLIV
(D) IV, I, II, III

oA C

*\gs./ AP G 72 T T OIS e i e | 3
S mﬁﬁm(costpﬁce)wmww
20% =T 27, ot 2ifS @51 fifdre yes v o fomy s

(A) —é—%ﬁa |vo ’;"’a
5

1

(B) gﬁ'@lq
—

(C) %l%*lﬁl?f

1
(D) Z—Oﬁw

13, Faferfad STRieH TR WAl R
(chronologically) gqoll3: '

(1) TeE e (Swadeshi movement)

(I) TEeThd 3= (Khilafat movement)

(1) BEet 3Tl (Home Rule movemen)
(IV) A  AHT  AT]|IET  (Civil
Disobedience movement)
(A) I, II1, IV, 1
(B) L IIL II, IV
©) IIL IL 1, IV
(D) IV, I, 11, III

34. TSI Al 34 ToFR It fiysmor ) afe |

$¥, < o (cost price) HI A Teight TR G 20%
T W, W wlo geraT iy iy feysor fordp?

1
g

(B) éﬁﬂa
(C) —;—faa

(A)

\%ﬁcwﬁmmﬁw%mﬁﬁmm

\

7T 30% SR G T 409% IS0 SS0R ca yy

2 3200 B | (TSI F0 Co1Pe e gzg?g;fﬁrE@M%a%lgéWﬁW
(A) 2.0 | STSTR e M st T
B 30 (A) 27
©) (B) 37
(D) e PR o

g (D) T e
www.kolom.in ‘
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3
(A) Z% A A’Lﬂ-”’g
N
~(B) 27%3M } ﬁ]‘) 1
e A H
(C) '5"%37%

%Waaﬁw@.@q SRICECIIST!

o

&e OoFFd O 85 (TP AW (slow) D G
o] S G A O o 51 (IS @O
(fast) 5T | (5T, Tof 48 IB1H WfETHre AfSE 37

o741 AT | 48 T FOHA G GE? o
\ &% 3

(A) 16 951 &0
\(B) 18 9% “cs . %
C) 20 D! >
((D; 22 9B} L ﬂ'///%" —
& / ’170"5’
%‘ [}‘é o
_ 9
) |
. Haemoglobin : Iron : : Chlorophyll : ?
(A) Copper
(B) Magnesium
TR it s SIS
(C) Cobalt | |
(D) Calcium
plac ret P g

o= °

\ 2 A @G Ay s Fe
31
50" 49, 629, (08)’

oY\ 31 .
pt9) (A) 50 V49, 629, (0-8)7

38. Haemoglobin : Iron : : Chlorophyll : ?
(A) Copper
(B) Magnesium
(C) Cobalt
(D) Calcium

39. H&H TS
-g%, J49, 629, (08

(A) -fj%, J49, 629, (08)
31

(B) 49, (08)", 629 55
2 31 a9

(D) 629, %, J49, (08)

nnnnnnnnnnnnnnnnnnn



RB/C(M)/2018 (12)
%ﬁiﬂ‘ﬁﬂ@ (Rahi Sarnobat) (i (XIS ALY

J& ¢

Out of the four alternatives suggested, select the
one which best expresses the same sentence N

indirect speech:
41. The peonsaidtohis officer; “Please forgive

bk

me”.
(A) The peon requested his officer that he

forgive him.
(B) The peon requested his officer tO
forgi\}e him.
*2 (C) The peon «aid to his officer that he
rI ' should fofgive him.
(D) The peon told his officer to please
forgive him. ‘ |

)

42. 7 Ge1” (Philosopher’s Wool) FIC®
?

| (A) oz @HIET

o (B) ez S=1i3w

i ©) oz e
(D) &= @mize

\.A‘J-/Wimﬂiﬂﬁﬂﬁ’ (Pl (I AN TS ¢
(A) CAAlta

42,

43.

40, @ T (Rahi Sarnobat) &1 o 91 gad
EL .. -
' (A) Seel o4
(B) UK
(€) retae |
| (D) &F
Out of the four alternatives suggested, select ﬂfe
one which best expresses the same Sentence i
indirect speech:
41. Thepeon said to his officer; “Please fo;glve
me””.
fficer that he

(C) The peon said to his officer that he

should forgive him.
(D) The peon told his officer to please

forgive him.

' gRifhenl Sl (Philosopher’s Wool) FTR

(A) 5% wiRRS

B) fiw smms
(©) fiwTRE
(D) TSk SHTES

www.kolom.in
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(13)

out of the J el alternatives, choose the one which
can be S ubstituted for the given words/sentence.

Mcapable of making errors
(A) Infallible |

(B) Incorrigible

C) Imreparable

(D) Erroneous

45 TR (2) ZA G ey <orce
3, 7, 23, 95, ?
(B) 128 " q
s 479 («ﬁ/j
(D) 575

46. ‘Freedom behind bars’ <19 (11 ?
A) BT @@ |
(B) (AT« IS
(C) A SER™ (T
(D) 12 W

Directions: (Qs 47 to 51): Read each sentence 10

find outwhetherthere is any grammatical errorinit.
The error, if any, will be in one part of the sentence.

The number of that part is the answer. If there is no
error, the answer is (4). (1gnore missing punctuations,

if any)

ess said the grenade was thrown

47. Some witn
said (2) /1t

(3) / No error (4).
(A) 1
(B) 2
(C) 3
(D) 4

www.kolom.in

(B) 128
(C) 479
(D) 575

46. ‘Freedom behind bars’ el TEhi 7
(A) T afg
(B) T&THA A
(C) Y e =

(D) W@ 3Tegeet

Directions: (Qs 47 to 51): Read each sentence 10

find outwhether thereisany grammatical error init.
The error, if any, will be inone part of the sentence.

The number of that part i3 the answer. If there 15 no
error, the answeris(4).(1gnore missing punctuatons,

if any)

nade was thrown
thers said (2)/1¢
a moVINg car

47. Some witness said the gr

(1) / from a motorcycle while 0
‘was lobbed at the check post from

(3) / No error (4):
(A) 1
(B) 2
(C) 3
(D) 4




RB/C(M)/2018 - (14)

48. Consumers are set to be spoilt for chg;,
(1) / as smartphone maker compete with o,
another (2) / with flagship launches at attractjy,
prices. (3) / No error (4).

48. Consumers are set to be spoilt for choice
(1) / as smartphone maker compete with one
another (2) / with flagship launches at attractive
prices. (3) / No error (4).

AY 1 (A) 1
(B) 2

(C) 3
(L) 5 (D) 4
(D) 4

49. Monsoon this yearis expected (1) /toarrive

- - | arrive
49, Monsoonthis year s expected (1) /toarn on the Indian mainland (2) / five days later than the

on the Indian mainland (2) / five days later than the

normal date. (3) / No error (4). normal date. .(3) / NO '_error (4);
(A) 1 - (A) 1
(B) 2 ' (B) =
(C) 3 (C) 3
(D) 4 (D) 4
50. Talking about his Padma Shri award, the 50. Talking about his Padma Shri award, the
actor said (1) / he didn’t want to accept it as there | actor said (1) / he didn’t want to accept it as there
were people (2) /in the industry who deserve it | were people (2)/ in the industry who deserve it
more than him (3) / No error (4). more than him (3) / No error (4).
(A) 1 ' (A) 1
(B) 2 (B) 2
©) 3 ©) 3
(D) 4 D) 4

S1. The police team patrolling the area (1) /

.~ S1. The police t ] /
took the victim to hospital (2)/ where he was police team patrolling the area (1)

k the vin: .
declare brought dead. (3) /N 0 error (4). o (;:c?lar; Er:;;tlll?ld;zdh?;?;tillo(zrg;v?;re e was
(A) 1 S | , -
(B) 2 | (A) .1
©3 (B)2
" (D) 4 (C) 3
. (D) 4
\/Sﬁrﬂﬁ .@m AT (Plateau) 7
(A) @B el 52. TovEaH Gl 911 39 My (Plateau) T/
(B) fo®® el (A) BRAMTR wreryfy
(C) ST TeTefy (B) T mreryfy
(D) AR AT ) STl Hrerv
- (D) 9IRR Areryfi
www.kolom.in
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Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in

bold as used in the sentence:
55. She paid a flying vi§it to Mumbai to see her
ailing father. ,
(A) a surprise visit
(B) a very short visit
(C) a :very long visit
(D) went by aeroplane

(15) -

RB/C(M)/2018

Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in

bold as used in the sentence:

55. She paid a flying visit to Mumbai to see her
ailing father.
(A) a surprise Visit
(B) a very short visit
(C) avery long visit
(D) went by aeroplane




RB/C(M)/2018 (16)
| four alternatives, choose the one which

Out of the four alternatives, choose the one which Out of the d for the given words/sentence.

. _ onrte
can be substituted for the given words/sentence. ~an be substitut

§7. That which is “Unclear”
(A) Doubtless |
(B) Uncertain
(C) Controversial
(D) Ambiguous

“Unclear”

57. That which 1S
(A) Doubtless
(B) Uncertain
(C) Controversial

(D) Ambiguous

7 et xiRmpierd (Nalanda University ) 919 58, AT foRaTENeT (Nalm;da University)
% il THAHI o o oy

AR (ol 2@ ¢
(A) 29¥ HY (A) S R
(B) oo ALY . (B) o T
(C) MM (C) g1
(D) T (D) Tp<T¥ .
59. Which one of the following words 1s 59. Which one of the following words 1is
correctly spelt? correctly spelt?
] (A) Mandatary J (A) Mandatary °
(B) Circulatary * . (B) Circulatary
! (C) Temporary (C) Temporary
! (D) Regulatary (D) Regulatary
| 60 GREESTE: 213 —
\/s( . B 60. HTATET X
3—- . _',‘5' .
5+Fﬂ I # -2_-'—- | \% . S
P 11% 5 s 1
1+= < ne d — '
* KX | 1+-1—
2\
) . “'f\
; A) % %7 =) )
9 3 1}\ 3/ (A) 3
e -
. 3 10
(C) 4 \\6 | 3
' (C) =
7 4
3
www.kolom.in
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(17)
| 61. o RB/C(M)/2018
a3 Ao Ry Yy 10% O TR0 S IR forsrr gy
}z}c}:ﬂa/aw 43R ReFrea 16% waqend 18% ﬁglgﬂm@ ,ﬁa,_q,i?qui’g;qm“*’ T{Sﬁﬁ
T (AT 6 DIl @R 7 Reraed S 0 Ml o i
97 ¢ A G REELIEEREEEY TR 617[\3«;411@3@%{%

FHACT FOF?
(A) 600 1=, 500 Gi<l

(B) 400 5=, 300 Bi<
(C) 700 Bi=t, 600 Gl
(D) 800 Bist, 700 Gi<el

Out of the four alternatives, choose the one which
can be substituted for the given words/sentence.

62. One who runs away from justice
(A) Fugiti;ze
(B) Convict
(C) Accused
(D) Prnisoner

'\md (ST1CeT4 (element) Rfeq A9 (atom)

fereqe A2t < {68 (AN Y o7 2 Ot =

\ 64, 214 () 20 B T

DEF, HIJ, MNO, ?
(A) SRQ

(B) STU
-—

(C) RST
(D) RTV

63. T = dehl (element) [T Tl (atom)
Tohl AT Teh ThH T IS H&A TR HUH

(A) SRQ
(B) STU
(C) RST
(D) RTV

www.kolom.in
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RB/C(M)/2018 8 e
%B=2:3’B:C:4:5’C:D=6'7w 65. qﬁA:B:Z.?),B- _
A:D=1 . . QNA:D::?

(A) 18:15 | (A) 18 : 15

By 16:35 i'fg, B) 16:35
(C) 16: 15 . ) 16:15
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